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Pulse filtering Jefferfontab

By Simon Taylor

Impact of pulse filtering

Run 41610 (raw mode) analyzed using Sergey Furletov's
pulse shape analysis code, not using Beni's correlated noise
filter code

Time cut = (60,900) ns

A=No B=No C=Pulse D=Pulse C/A

pulse pulse selection, | selection,

selection, selection, | no time with time

no time with time | cut cut

cut cut
p2pi_hists 3.43 3.92 4.10 4.43 1.20 1.13 1.29
p3pi_hists 0.42 0.48 0.44 0.47 1.05 0.98 1.12

4/4/18 ; Sergey Furletov . .
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CDC noise statistic JefferSon Lab

\ccelerator Facility

run photons noise early overflow total occup. Row 1| current radiator target other trigger comment
41801 13.3 6.9 2 49 27.1 10.50% 150 JD70-100 full std Phys=1
41801 23.4 10.1 3.6 7.3 444 5.50% 150 JD70-100 full std Phys=0 time flat
41802 8.5 5.4 11 3.6 18.6 7.00% 50 JD70-100 full std Phys=1
41802 23.8 10.5 3.6 7.3 452 2.20% 50 JD70-100 full std Phys=0
41803 1211 6.2 1.6 4.3 242 9.00% 100 JD70-100 full std Phys=1
41803 24.7 10 3.7 7.2 45.6 4.00% 100 JD70-100 full std Phys=0
41805 16 7.2 2.3 5.3 30.8 11.00% 200 JD70-100 full std Phys=1
41805 244 9.6 3.7 7.2 44.9 8.00% 200 JD70-100 full std Phys=0
41806 5.8 421 0.8 11 49.8 <0.004 0 none full No beam Phys=0
41806 38.9 5.9 3.6 5.8 54.2 1.40% 200 none full Phys=0 cos
41810 16.3 18.1 3.4 11.2 49 0.07% 200 none full W-foil Phys=0
41812 147 7 2.4 59 30 12.00% 200 Al 4x10-4 full Phys=1 no h/m
41812 22.2 9.6 3.7 8.2 40 4.00% 200 Al 4x10-4 full Phys=0 no h/m
41815 8.5 6.1 13 4.3 20.2 3.00% 200 Al 4x10-4 empty Phys=1
41815 19.6 10.2 3.6 7.2 40.6 1.20% 200 Al 4x10-4 empty Phys=0
41816 37.7 11.1 3.1 4.5 56.4 0.15% 200 none empty Phys=0 shad cos
41817 8.6 333 18 5.5 492 0.01% 200 nonel empty W-foil Phys=0
41818 9.2 6.2 1.4 41 20.9 3.30% 200 JD70-100 empty Phys=1 no h/m
41818 20.4 10.1 3.7 6.4 40.6 1.40% 200 JD70-100 empty Phys=0 no h/m
41820 8.8 6.2 1.4 41 20.5 3.30% 200 JD70-100 empty no TPOL Phys=1
41820 20.4 10.2 3.7 6.4 40.7 1.20% 200 JD70-100 empty no TPOL Phys=0




Event display 200nA Phys=0 JefferSon Lab

\ccelerator Facility
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CDC ring 1 occupancy Jefferéon Lab
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CDC pulse analysis
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CDC pulse analysis
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Signal and BG pulses in the same straw
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Signals overlap
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